A KLAX is three or more tiles of the same color in a row, i.e.
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Diagonal Vertical

HOW TO PLAY

You play KLAX by moving your paddle left and right and using
it to put tiles in the “bin” Your paddle can move to one of 5
positions on the screen:

Horizontal

Tile

The paddle can

hold up to 5 tiles.  Paddle—
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Can move here
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As tiles move down the conveyer,
use your paddle to catch them.

Press “A,” “B” or “C" to flip the top tile off into the bin below.
Press UP on the directional button to throw the top tile on
your paddle back up the conveyor.

Also, you can press DOWN on

i oS the directional button to accel-
erate the tiles on the conveyer.
Use this feature with caution.
There are up to 10 total colors in
the game, plus the wild tile. (The
st _.._Igeh"e"ﬂ end  wild tile is a flashing block that

will substitute for any color.)

Drop Meter

If you do not catch a tile with your
paddle, it will drop to its death and
your drop meter will increase. You
have a limited number of drops

before your game is over.

When all the lights are ON, your game is over!

HOW TO COMPLETE A WAVE

There are 5 different types of Waves in KLAX.

Type of Wave
“You must get xx* KLAXs.”
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What to Do

Get the number of KLAXS
specified. KLAXs are three or
more tiles of the same color
in a row.

Type of Wave

“You must get xx* Diagonals”
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What to Do

Only Diagonal KLAXs count
towards finishing the Wave.
You can still get other types
of KLAXs, though (and you
might need them to survive!).

Type of Wave

“You must catch xx* Tiles”

What to Do
That many tiles must be

caught on the paddle to
finish the Wave.

Type of Wave

“You must get xxxxx* points”

What to Do

You need to get this many
points to finish the Wave. See
SCORING for how many

points each type of KLAX
scores.
Type of Wave What to Do
“You must get xx* Only Horizontal KLAXs count
Horizontals” towards finishing the Wave.
You can still get all s of
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KLAXs, though.

* Represents a number based on current wave.

THE BASIC EXAMPLES OF A KLAX

3 Tiles = 1 KLAX

50 Points 10,000 Points

5,000 Points

2 X 10,000 Points

2 X 10,000 Points

4 Tiles = 2 KLAXs

15,000 Points

10,000 Points
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2 X 5050 Points

S5 Tiles = 3 KLAXs

10N Points

5,000 Points

10,000 Points
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20,000 PPoints

2 X 10,050 Points

Some KLAXs can be done easily by using a wild tile.

(w = Wild Tile)

3 X 6050 Points

3 X 1L000 Points

3 X 15.000 Points

2 X 25000 Points

3 X 30,000 Points

5 X 42,050 Points

2 X 5050 Points

3 X 10,050 Points

3 X 20,000 Points
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3 X 30000 Points
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4 X 30,050 Points

Big Points on Wave 1

Some of these wild tile configurations take a lot of practice.
Once you get the pattern down, you'll be able to do it with ease.



